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ANSWER ANY FOUR QUESTIONS

QUESTION ONE

a) In your own view as the project manager, provide a plan formulation and
requisites for successful planning for a firm of your own choice.

{15 Marks)

QUESTION TWO

Write short notes on three of the following;
i) Planning by direction and planning by Inducement (3Marks)
it}  Financial and physical planning (3Marks)
iii) Perspective planning and annual planning (IMarks)
iv}]  Rolling and fixed plans (3 Marks)
v)  Planning in a mixed economy (3 Marks)

QUESTION THREE

a) The following relates to the economy of a given country

G is the rate of growth = 5%

Sgis the saving rate of profit receivers =25%
Pyis the share of profit in total income =50%
Swis the saving rate of the wage eamer=5%

Required
Calculate the shadow rate of interest for the economy (10 Marks)
b) Discuss the uses of shadow prices in the project. (SMarks)



QUESTION FOUR

i) Discuss the stages of project evaluation

(5 Marks)

ii) By the use of a graph explain the relationship between NPV andIRR (5

Marks)

iii) Limitations arise in cost-benefit analysis of measuring the present and
future benefits from a project and costs incurred in obtaining these
benefits. Identify and explain these limitations

(5 Marks)
QUESTION FIVE

i. What is the meaning and assumptions of input — output analysis?

(5 Marks)

ii. Below is input —output table of economy as a whole in a particular
year. It shows the values of the flows of goods and services between
different productive sectors especially inter — industry flows. For
your understanding, a three sector economy is taken in which there
are two inter — industry sectors, agriculture and industry, and one

final demand sector.
Purchasing sectors
Sector Agriculture Industry Final demand
s 50 150 100
g Agriculture
g Industry 100 250 150
Total cost 300 500 250

Using the above table calculate




i) Value added for each sectors (3 Marks)

ii) Total output of agriculture (3.5 Marks)
iii) Total output of Industrial (3.5 Marks)
QUESTION SIX

a) Define what you mean by the word
i) Linear programming? Explain the uses of linear programming in planning
(3 Marks)
ii) What are the assumptions underlying the linear programming? (3 Marks)

b) i) By the use of a graph explain the concept of capital — output ratio of a given
economy (5Marks)

it) List and explain factors determining capital — output ratio. (4 Marks)



